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Suppose that you have $1000 and a bank offers to pay you 3%

annual interest on a savings account with interest compounded
monthly. In one year:
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S0 the interest earned is $30.42, Using / = Pre with ¢« = 1, [ = $30.42, and
P = $1000, we find the annual simple interest rate is 0.03042 = 3.042%. ‘This
interest rate is known as the effective rate of interest.
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The effective rate of interest is the equivalent annual

simple rate of interest that would yield the same amount as
compounding after 1 year.

Effective Rate of Interest

The effective rate of inlerest r, of an investment carning an annual interest
rate ris given by
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Compounding » times per year: r. = (l +

Continuous compounding: r.=e =1

Computing the Effective Rate of Interest
—Which Is the Best Deal?

Suppose you want to open a money market account. You visit three
banks to determine their money market rates. Bank A offers you
4% annual interest compounded daily, Bank B offers you 4.1%
compounded monthly, and Bank C offers 3.95% compounded

continuously. Determine which bank is offering the best deal.
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Present Value Formulas

The present value P of A dollars to be received after / years, assuming a per
annum interest rate ¥ compounded . {imes per year, is
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If the interest is compounded continuously,
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c 2 A zero-coupon (noninterest-bearing) bond can be redeemed in 10 years for $1000.
X How much should you be willing to pay for it now if you want a return of
I \’ A
L (a) 7% compounded monthly? (b) 6% compounded continuously?
+0b )
f I[.‘l'_-l'.' E [ ".’ 1
“‘II Vi g 0 g
(bl =] f:-){g(_ff( !i
JiJ1 | |



